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Comparative Operators

Denary is the decimal number system that we
are used to. It uses the numbers 0-9 and the
column headings go up in powers of 10.

== | Fgualto
.. 180 (Hundreds) 10 (Tens) 1 (Units)
Key Word Definition ] Mot EL]IJ:'I' ) 2 3 3
Algorithm A set of rules/instructions to be > Greater { 2 lots of 180 3 lots of 10 8 lots of 1
followed by a computer system alredLer tha .
y P y Binary uses the numbers @ and 2. The
Sequence Parts of the code that run in order and < Less than column headings go up in power of 2:
the pathway of the program reads and - i !
' - ] 5 5
runs very line in order > Greater than or equal to T T n 5 T
selection zele;ts a Ea::ways thr‘ZL.J1g:|:1 th(? c:de <. Lt than or eaual to 2 1 2 2 2] 1 1 1
ased on whether a condition is true
64 +4 +2+1=171
Iteration Code is repeated (looped), either while
something is true or for a number of
times Images are made up of pixels
A value that will change whilst the Th B : :
e colour of each pixel is represented by a binar .
Variable program is executed. (eg. temperature, . P . P y y The analogue wave is
speed) number. If an image uses 1 bit to represent each smoother and shows
Data type This indicates how the data will be colour then it will only have 2 colours: continuous data. The
§tfc>r‘ed. Th: most cogm;):l; d:';a t)l/pes are digital sampling shows
integer, string, an oat/rea .
: This is a 1-bit image the ?mplltude of the wave
Syntax The punctuation/way that code has to be <o it uses 2 colours. at different points.
written so that the computer can O=whit d 1=black
understand it. Each programming language =white an =blac
has its own syntax.
The language of computers, made up of Os ~ - : " This is a 2-bit
Binary and 1s ’ 10 |11 |@0| 11|18 11 11 images so it uses
1111 (o0 |11 |11 | [ENEEEEN co [REUREEE | 1, <.
Pixel The smallest part of an image 000001100069 @0=white,
1111 [ee |11 11| [FENNEEN co EEREEY . _ | . 10-rcd
The amplitude of the wave is measured at 16111 (oo 11| 18 11 [EER 11 11=b1acl’< ?
Sound sampling regular intervals which creates a digital
representation of the wave.
PP - T 77 ] A: Stores user inputted text to a variable called . . -
Data Definition name = 1 ' L [ P This binary addition
Tvpe age = 14 3 . . . \
yp 13ers = ["Jchn",’ " 3 B: Stores an integer value 14 to a variable called glves an overflow error
- T » length = len(use ib | age- as the total does not fit
String Text eg: “Hello valid = 4 | C: Creates a list which contains 2 string values. . \
Integer Whole number eg: 32 ¥ Stores to users. n 8 bits (a bj,-'te].
g g i inge {length) 4 | D: Calculates the length (how many items are in) of
Float/Real | Decimal number eg: 1.2 name == users(i] #H | Users. .
valid = E: Stores the Boolean value False to variable 19910101
Boolean Two values eg: true or valid.
false valid == F: Use of white space to make code clearer. + 11061106171
i "y G: Creates a loop that will iterate for every llllleeee
Character |A single character eg: b element in users. 1 11111

H: Use of selection to determine if the entered
value match with any values from the list




